
Chapter 1:  Linear Equations 

 

  a. Solving this problem is equivalent to finding an equation of a line that passes 
through the points (0, 24.5) and (30, 34). We use these two points to find the slope:  

  
34 24.5 9.5

m 0.32
30 0 30
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The y intercept occurs when x = 0, so b = 24.5 

 y 0.32x 24.5    

b. Now to predict the population in the year 2025, we let x = 2025 − 1980 = 45  

 y 0.32x 24.5    

 y 0.32(45) 24.5 38.9     

In the year 2025,  we predict that the population of Canada will be 38.9 million 

people.   

Note that we assumed the population trend will continue to be linear.  Therefore if 

population trends change and this assumption does not continue to be true in the 

future, this prediction may not be accurate. 
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